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Πρόβλημα Παραγωγού-Καταναλωτή
struct shm {


int id; 


int info;

}

void up(int semid) {


struct sembuf operation;


operation.sem_flg = 0;


operation.sem_num = 0;


operation.sem_op = 1;


semop(semid, &operation, 1);

}

/* write code for down() in a similar way */

void enter_item(struct shm *p, int id, int info) {


p->id = id;


p->info = info;


printf(“Εισαγωγή στοιχείου με id = %d και info = %d\n”, 
id, info);


fflush(stdout);

}

void remove_item(struct shm *p) {


printf(“Εξαγωγή στοιχείου με id=%d και info = %d\n”, 
p->id, p->info);

fflush(stdout);

p->id = -1;


p->info = -1; 

}

Πρόβλημα Παραγωγού-Καταναλωτή

void main(void) {


int pid, memid, mutex, empty, full;


void *shmp;


memid = shmget(IPC_PRIVATE, sizeof(struct shm),

 0600| IPC_CREAT);


shmp = (struct shm *)shmat(memid, 0, 0);


mutex = semget(IPC_PRIVATE, 1, 0600| IPC_CREAT);


seminit(mutex,1);


full = semget(IPC_PRIVATE, 1, 0600| IPC_CREAT);


seminit(full,0);


empty = semget(IPC_PRIVATE, 1, 0600| IPC_CREAT);


seminit(empty,1);


pid = fork(); 


if (pid == -1) {



printf(“Error in fork\n”);



exit(1);


}


if (pid == 0) producer(shmp, mutex, empty, full); 


else {



pid = fork();    

/* edw xreiazetai elegxos gia -1  */



if (pid == 0) consumer(shmp, mutex, empty, full);



else  {




for (i=0; i< 2; i++) wait(0);




shmctl(memid, IPC_RMID, 0);




semctl(mutex, 0, IPC_RMID); 




semctl(empty, 0, IPC_RMID);




semctl(full, 0, IPC_RMID);

}


} 

}

Πρόβλημα Παραγωγού-Καταναλωτή
void seminit(int semid, int k) {


union semnum { int val;





 struct semid_ds *buf;





 ushort_t *array;




       } arg;


arg.val = k;


semctl(semid, 0, SETVAL, arg);

}

void producer(struct shm *shmp, int mutex, int empty, int full) {


int id, num;


id = random(); num = random();   /* produce item */


down(empty);


down(mutex);


enter_item(shmp, id, num);


up(mutex);


up(full);

}


void consumer(struct shm *shmp, int mutex, int empty, int full)  {


down(full);


down(mutex);


remove_item(shmp);


up(mutex);


up(empty);

}

Και αν κάτι δεν πάει καλά;
#include <errno.h>

/* int errno; */

/* elegxos gia -1 meta apo fork() */

if (pid == -1) {


switch(errno) {



case EAGAIN:




printf(“The system-imposed limit on the total number  of  pro-cesses  under  execution  by  a  single  user has been exceeded; or the total amount of system memory  avail-able  is  temporarily  insufficient  to duplicate this process.\n”);




break;



case ENOMEM:




printf(“There is not enough swap space.\n”);




break;



default: 

printf(“Unknown error\n”);




break;


}

}
/***********************************************

ERRORS

     The fork() function will fail if:

     EAGAIN

           The system-imposed limit on the total number  of  pro-cesses  under  execution  by  a  single  user has been       exceeded; or the total amount of system memory  available  is  temporarily  insufficient  to duplicate this process.

     ENOMEM

           There is not enough swap space.
*****************************************************/
Παναγιώτα Φατούρου



